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1
In quadrilateral BLUE shown below, [image: image1.png]


.

[image: image2.png]



Which information would be sufficient to prove quadrilateral BLUE is a parallelogram?

	1)
	[image: image3.png]BL || EU





	2)
	[image: image4.png]LU || BE





	3)
	[image: image5.png]




	4)
	[image: image6.png]LU = BU







2
In the diagram below, lines k and [image: image7.png]


 intersect lines m and n at points A, B, C, and D.

[image: image8.png]



Which statement is sufficient to prove ABCD is a parallelogram?

	1)
	[image: image9.png]




	2)
	[image: image10.png]27





	3)
	[image: image11.png]Z5



 and [image: image12.png]27





	4)
	[image: image13.png]


 and [image: image14.png]Z4







3
In the diagram below, lines [image: image15.png]


 and m intersect lines n and p to create the shaded quadrilateral as shown.

[image: image16.png](<
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Which congruence statement would be sufficient to prove the quadrilateral is a parallelogram?

	1)
	[image: image17.png]


 and [image: image18.png]




	2)
	[image: image19.png]


 and [image: image20.png]29





	3)
	[image: image21.png]27



 and [image: image22.png]Z10= Z15





	4)
	[image: image23.png]29



 and [image: image24.png]






4
Quadrilateral ABCD with diagonals [image: image25.png]AC



 and [image: image26.png]BD



 is shown in the diagram below.

[image: image27.png]



Which information is not enough to prove ABCD is a parallelogram?

	1)
	[image: image28.png]


 and [image: image29.png]AB| DC





	2)
	[image: image30.png]


 and [image: image31.png]




	3)
	[image: image32.png]


 and [image: image33.png]BC || AD





	4)
	[image: image34.png]AB| DC



 and [image: image35.png]BC || AD







5
Parallelogram HAND is drawn below with diagonals [image: image36.png]


 and [image: image37.png]AD



 intersecting at S.

[image: image38.png]



Which statement is always true?

	1)
	[image: image39.png]1
F4L





	2)
	[image: image40.png]A5 =2 AD





	3)
	[image: image41.png]LAHS = ZANS





	4)
	[image: image42.png]LHDS = ZNDS







6
Which statement about parallelograms is always true?

	1)
	The diagonals are congruent.

	2)
	The diagonals bisect each other.

	3)
	The diagonals are perpendicular.

	4)
	The diagonals bisect their respective angles.



7
A quadrilateral must be a parallelogram if

	1)
	one pair of sides is parallel and one pair of angles is congruent

	2)
	one pair of sides is congruent and one pair of angles is congruent

	3)
	one pair of sides is both parallel and congruent

	4)
	the diagonals are congruent



8
Quadrilateral ABCD has diagonals [image: image43.png]AC



 and [image: image44.png]BD



.  Which information is not sufficient to prove ABCD is a parallelogram?

	1)
	[image: image45.png]AC



 and [image: image46.png]BD



 bisect each other.

	2)
	[image: image47.png]


 and [image: image48.png]




	3)
	[image: image49.png]


 and [image: image50.png]AB| CD





	4)
	[image: image51.png]


 and [image: image52.png]BC || AD







9
Quadrilateral BEST has diagonals that intersect at point D.  Which statement would not be sufficient to prove quadrilateral BEST is a parallelogram?

	1)
	[image: image53.png]


 and [image: image54.png]




	2)
	[image: image55.png]


 and [image: image56.png]




	3)
	[image: image57.png]


 and [image: image58.png]BE || TS





	4)
	[image: image59.png]ES || BT



 and [image: image60.png]BE || TS







10
In quadrilateral QRST, diagonals [image: image61.png]oS



 and [image: image62.png]RT



 intersect at M.  Which statement would always prove quadrilateral QRST is a parallelogram?

	1)
	[image: image63.png]£ TOR



 and [image: image64.png]£ ORS



 are supplementary.

	2)
	[image: image65.png]


 and [image: image66.png]




	3)
	[image: image67.png]


 and [image: image68.png]




	4)
	[image: image69.png]


 and [image: image70.png]OT || RS







11
Quadrilateral MATH has both pairs of opposite sides congruent and parallel.  Which statement about quadrilateral MATH is always true?

	1)
	[image: image71.png]MT = AH





	2)
	[image: image72.png]MTLAH





	3)
	[image: image73.png]CMHT = ZATH





	4)
	[image: image74.png]CMAT = ZMHT







12
In parallelogram ABCD with [image: image75.png]ACLEBD



, [image: image76.png]12



 and [image: image77.png]16



.  What is the perimeter of ABCD?

	1)
	10

	2)
	24

	3)
	40

	4)
	56



1
ANS:
2
REF:
061720geo

2
ANS:
3

Therefore [image: image78.png]27



.  Since opposite angles are congruent, ABCD is a parallelogram.
REF:
062209geo

3
ANS:
4

[image: image79.png]26



 and [image: image80.png]29



 are alternate interior angles; since congruent, [image: image81.png]


.  [image: image82.png]29



 and [image: image83.png]Z11



 are corresponding angles; since congruent, [image: image84.png]


.  Both pairs of opposite sides are parallel.
REF:
082319geo

4
ANS:
3

(3) Could be a trapezoid.
REF:
081607geo

5
ANS:
2
REF:
011802geo

6
ANS:
2
REF:
011912geo

7
ANS:
3
REF:
061912geo

8
ANS:
4
REF:
061513geo

9
ANS:
3

3) Could be an isosceles trapezoid.
REF:
012318geo

10
ANS:
3
REF:
081913geo

11
ANS:
4
REF:
081813geo

12
ANS:
3

The half diagonals have lengths of 6 and 8, so each side of ABCD is 10.
REF:
012417geo

